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1.c 2.d 3.c

4. castle, thistles, defeat
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| Reading 02

1.c 2. the liver 3.b

4. sharp, medicine, liver damage, cancer cells
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Reading Closer

A Across @ steal @ inside @ needle @ repair
® harmful

® purple @ cancer ® plant © defeat
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B

1. pain 2. attack 3. remove 4. effect 5. toxin
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. In fact, it played a big role in saving Scotland.
. The story goes back to hundreds of years ago.

. The Vikings just swam across the moat to get to the

castle.

The cries of pain woke the Scottish.
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. A thistle is often considered harmful by farmers.

. Once it is planted, it quickly covers a large area of the

land.

. Milk thistle is good for preventing and repairing liver

damage.

. It removes waste and toxins from the blood.
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Reading Closer

A Across @ sweat @ contact @ addicted @ hang

Down ® text ® function @ regard ® average

© tool © pay

B 1.source 2.share 3. positive 4.imagine 5. recent
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1. Do you break out in a cold sweat when your cell phone

battery dies?

2. A recent study found that some people could be
addicted to their cell phones.

3. That might be a good reason to hang up the phone!

4. They felt less stressed.
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1. Cell phones have changed the way we talk to each
other.

2. We can communicate with text messages.

3. Early cell phones were much bigger than today’s
phones.

4. They feel they cannot live without them.
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Light & Shadow
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A Across @ rotate @ original @ sunset @ quite
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B 1.angle 2.rest 3. original 4. block 5. agree
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1. The man did not let the boy do that.

2. The boy got angry and decided to do something.
3. He asked the man to sell the shadow to him.

4. He had to pay the boy three times the original price.
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. Our shadow is a friend who always follows us around.
. A shadow is formed on the opposite side.
. Even a short person has a long shadow.

. This causes the shadow to change its size.
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High in the Sky
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B 1. passenger 2. fabric 3. layer 4. allow 5. float
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1. The hot air pushes the balloon up and keeps it floating.
2. The basket is the place where passengers ride.

3. It produces a big flame to heat the air.

4. The balloon may actually turn around in the air.
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. During the day, the temperature goes up.

. Warm clothes are strongly recommended.

3. The temperature in the air is often lower than on the
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. Before booking a flight, first check out the company’s

safety record and the pilot’s experience.
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In the Future

2R0EE QUIZ 40%

1 E{OJH|0IE 2 Ml 7HX|

ofl XA QUIZ 4=

1 nightmare 2 decision

| Reading 01

1.b 2. was sent 3.d

4. physics, effects, screenplay, one, hit
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| Reading 02
1.d 2.c 3.c

4. like, information, goals, ideal
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Reading Closer

A Across @ goal @ explore @ variety @ mind

® direct

Down ® college @ toward ® decision @ physics

later

B 1.regret 2. ideal
[5tAd]

3. gather 4. nightmare 5. effect

1. U7k AIZkE GHISHE, LIS 23S =22 XOIC

2. OIE|= MZ22 At

242 D= 0JAPEQl 7|3(0]Lt,

3. L= I FH(Ofl tHe HEE 7| flaiM R Aol S ¢

C decision, explore, sources, goal, directing
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4% %44 WORKBOOK

Reading 01 18~19%

A

1. XIZ5tCt 2. 0] &=QI 3.0e

4. tist 5. 228 6. &QIXt

7. =5t 8. A4S 9. OREIH

10. 24 11. 0= 12. ©&35| Liot7tct

13. ~0|2tEH O{E7? 14.

Y= 15, et

1. What if it were your ideal job?

2. Still, most people would not go for it.

3. In college, he studied physics and learned about

special effects on his own.

4. One day he had a nightmare about a killer robot.

C
1. BIOF 12439t X231
& 2401717
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w 20~21%
A

1. 120 2. &4 3. OF [H2f

4, MOH AH[SICE 5. EESIC 6. M=

7. 88 8. AFEIZI7} 9. 3|5ttt

10. ZOr}, &t 11 AR ™ok 12, SEE A0
13. LIS 14. ZASICH 15, W2 CHFst

16. S&lottt

B

—_

(9]

N

-
©

. Choosing a job is a very important decision.

You should put some time and energy into it.
Set up goals and try hard to achieve them.
Gather information about the job from a variety of

sources.
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Water for Life

2207 QUIZ 48%
1 2= 2 2ormz|7}

ogl xRt QUIZ 49%
1 chore 2 risk
| Reading 01

1.a 2.b 3. MWDTQFQT

4. clean, well, hand, 1,000, better
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Reading Closer

A Across @ enough @ climate @ bank @ supply

® incredible
Down ® well @ graduate ® decrease © global
© risk
B 1. region 2. share 3. shortage 4. improve
5. ordinary
[5tiAd]

2.7t Zlgt Z7E S5 M=o HIZE S/t

3. EZD AXF HE2 HAUT & FES =aol AL
4. 50 27011, 1 2tRte| HEt= JHAEIX] AL
5. J= By X7t ot 2, 12 R A7t0|C

C supply, diseases, essential, right, wells

[alA] LS ofZ2|7t ZTt0iA, ThRet =22

JEfOITt. OS2 MRet 22 A7| shM A2

2t BTt OS2 QHHSHA| =8t A

[

L. Ryan Hreljac2 &0 ANHA 20| 24Xl Z0|H

SE AFHO| MRet 22 7HE A7t Ubhs As EUL I
A = o7t 222 7|2 AL AHHEE2
Jot SE3ML XIZ7HX] 1,0007H7t = =S KUCH
A2 ¢ WORKBOOK

Reading 01 22~23%

A

1. Al&SIC 2. Fot 3. w3

4.12 5 43 6. Yt

7. ZY5ITt 8. g5 9. MY, si=AY

10. Of&SICH 2F0tCt 1. XISMX|

12. M 13. =9l U2 14, 2= SRS

15. ~5hk= AlHE 16, ~2 & == glbt

B

1. He decided to raise money for building wells in Africa.

2. He did all kinds of household chores for four months to

raise his first $70.
3. He graduated from college in 2013 and now works for

4.

the Foundation.

Everyone is able to make the world a better place.

C

1.

2.

1

Ryan Hreljac2 7iRZet 20| S=2otX| 7| W=Z0l OtZ2(7t
OlM 2 AHZO| Z0{7t

UCE A MYEHUAM BRI
1 ZH0l| oM FA7HE St A0

= Act

2 - Answers
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O &AL,
Ryan2 1% 740|{Ct. Ryan2 7|3 2= XS ASIUC
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CAS2 RS 22 O £ Gl ARSI LEMIEE =
0 EEo 2US FI| = AU
XIE7X| Ryan2| = M2 127 0f2| Li2tollA 1,00074
7t g= =S X0 ALk

CET7F 9| YA s S22,

Ryan2 A10] ©HX| HH
&t ofo|2tar ZEHCt

9. 0{E AHCZEM, = 572} 0l0|ASH |2t HILIR As £
OFHCt,

10. Ryan2| 432 HHs AIHS0| Z2t2 Y2 & = UAk= A

2 20 ECt,

Reading 02 24~25%

A

1.71= 2. 24 3. 2L35iCt

4. HH0I 5. ZAsiTt 6. 2%

7. Jidstct 8. &% J|# 9. ¥

10. &, ¥ 11, QHHIGHK| 42 12, ¥

13. X722 14, HHESH 15, Tl

16. 350| Eil=

B

1. Water is the most essential element for life.

2. Since clean water is in short supply, people sometimes
have to drink unsafe water.

3. It increases the risk of various diseases like cholera
and typhoid.

4. It is not easy to bathe or wash their clothes properly.
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In the Bathroom

HERO0EEI QUIZ 56%
1359 2 55

ozl QUIZ 57%
1 spread 2 sensitive

Reading 01

1. (1) The History of Flush Toilets
(2) The Way a Flush Toilet Works
(3) The Effects of Flush Toilets

2.c 3.MF@QTET

4. opens, fill, gravity, water, pipe

2F /o & HOIU AS0E sAHA 20| AT M4
QACH 2L A
f 2,700 0|
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aict.
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7| ol E3 Uttt — S 20, 22 If0|ZE Sdlf &2
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| Reading 02

1.b 2.C 3.d

4. China, emperors, rolled, cleaner
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2 XL AN LBEU=X SFoHT Ho| A=7t? ot
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Reading Closer

A Across @ emperor @ sensitive @ minor @ typical

Down ® vary ® gravity @ modern ® toilet
© spread © clay
B 1. impact 2. replace 3. invention 4. efficient

5. embarrassing

[5tiAd]

1. 11 A2 FH20|1S0|AH Zet geks FALC.

2. ER2 OO0t 3T U= e £33
Zd0]Ct,

3. EOtA o2 19| WMol HHoZ & UM UL,

N

sict,

5. "1z =& 0L U= g

C ancient, vary, modern, convenient, spread
[aHA] TICHOfl=
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syMe 92l MES & o MRS US 4 U0 22 ¢
; TR Bt Ol €A MR 4 ¢7| B,

AL oL
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23 /¢ WORKBOOK

Reading 01 26~27%
A

1. 209 2. 43 3. 28, =%

4.39 5. X0l 6. WH|SICH

7. 78, FQst 8. 1rhe| 9. BAAl H7|

10. 883, £X 11 244 12. X[, &t

13. ~SA| stct 14, Oo|=, & 15. =Q

16. &4 93

B

1. Flush toilets have made our lives easier and cleaner.
2. A flush toilet works because of gravity.

3. This allows water to flow out to fill the bowl.

4. The dirty water goes out and is replaced by clean

water.
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. 123ICt 9.=
11, H2gt 12.

2 14, ~ Ci2lof 15. BAL

. People in the past didn't use toilet paper.
. The ancient Greeks used stones and pieces of clay.

. The idea of toilet paper was too embarrassing and

sensitive at that time.

. Their products make our lives more convenient,

efficient, and cleaner.
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Environment

HERO0EEI QUIZ 64%
1 B 2 CO2

ozl QUIZ 65%
1 trap 2 emission
| Reading 01

1.[31[2], (1] 2.b 3.c

4. dark pot, solar, heat, electricity
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| Reading 02

1.b 2. 200

4. greenhouse, fuels, secondary
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Reading Closer

A Across @ fuel @ carbon @ measure @ emission
® solar ® trap
Down @ escape ® footprint @ Energy © pot
B 1. prevent 2. transportation 3. primary 4. weight
5. principle
[5tAd]
1. Z20MQ ALIE 2= 20| S5
2. M22 8% tEuE HaYS 7HX|D ALt
3. 1 D2HEQ Q5 FX2 FETH =5 2= A0|Ct
4. OOJ0E 2% 20f, 19| SFH= ZA7H AU
5.7t Q% {Al2 REIH Y 0| BSSICh= A0|Ct
C create, fuels, transportation, planet, cause
[GHAl] EtA UX=2 HOHLE P2 2MTIAE HEO WX|IE
B &L OA2 HE M 2482 2ol 325 EBHRe A
CE2RH st AED OtLZt HZES |XISt H7|5h=
Ao =HH UMSl= 24TIAS ST 2HIAZRE
AFE Fot= o 7HX] W2 BYE 0HX|IE 0|18dt= A
O|Cct. 2ref 227t L2[& m A=z A0 EfYE HHXIZE AL
SITHH, R2l= 247IA HIEES S01H & + US A0ITt
A3 ¢4 WORKBOOK
Reading 01 30~31%
A
1. '@Hl, & 2. B 3. ~= {o, 7t
4. 3% 5. &SIt 6. 2tAISh=
7. 9Ct 8. M 9. 7=
10. 25Tt 1. & B 12. ~0 O|=LCt
13. 7] 14. 2| 15. &2, E3l
16. &M<
B
1. She gets everything ready in a pot.
2. A mirror or reflective metal is used to trap more
sunlight.
3. A glass cover then prevents heat inside the pot from
escaping.
4. She doesn’t need to use any electricity or gas to cook
her food.
C
1. MSSHX|2E SiY 912 HOICE Green M= MY AAL EHIE
St

16 -

Answers

o o » W N

=
s ’A, A MM T2 1

JdU= Fe| 22 1 §eZ Uit
JILHE Ot0|S 2t =7| flshM S&of ZiCt,
L E7E S0ME M, XH0| 2HE 7|TE|1l JS AOo|Ct
g z=2|7| 79| |l2j= ZHESICt,
JUi= SHHO| HIXl= 20| Mo| &2 HHIE s=0. 1 HHl=
HUS Sttt
HA2 E= HOICH = SO0t TAYEIN?
A2 420 o2t tEXg S8 AL 2 HHl= M

150=7tK] 22t 4= ULt

IR Z2fE 4 A

B 97 Hie Bevt g,

Reading 02 32~33%
A

1. HE 2. 80 3. &x=

4. A 5. %t 6. U&, i

7. EHsict 8. Mta|5tct 9. RAE Mt

10. X229 1. EFxel 12, &t 87, 7]
13, 2SO0 LTt 14. 1 15, &

16. A®OtOtL2t B

B
1

. O USsHA &8

. The carbon footprint shows how much greenhouse

gases a product creates.

. It is created not only from making products but also

from maintaining and destroying them.

. The next step is to choose products that cause less

CO, emissions.

. A paper cup creates greenhouse gases about twice its

weight.

- rHOPAM SL0] Abs BE A2 247HAE HiESIT)

HHZ Bt
719l wEUE0A S| L2t 2717HK] XA A 2f 58y
ol st 2A7IAE BiEsttt

ro
P
o
=
10
o
=
]
n
rr
r
1
N
[>
10
09
mjo
_||>|.
<

Hot7| flshM, At

T REo ot

EHSIM Lo

OfR} Bt LUX=2 MIZ2| TA| 20|12 AO|EUAM L= 2

4 9,



Traveling Thailand

H2R0RE| QUIZ 72% | Reading 02
1 22 2 7|2 Et7| 1.d 2. elephants 3.b

4. terrible, ladder, handle, stopped

ol XAl QUIZ 73% .
EREBESE N
1 rescue 2 relief KLU0 22| 7152 EfR0IAM F7I2 ERICH LH= SAInt of
ECHR ZXIE EZCh L T8t 25 Ef7| SioEn LM S
. Mot7|1E SZ4CH J2(L Wt 22 4 QUUAE St ZEXI7F AULCE
Reading 01
1742 37|2| Et7|%CH
1.d 2.d 3.d ghe o R0, LH= L QMO HZo2 021 2 S8 59|
4. (1) Rama, forest (2) Hanuman, wife SHL} Oj| E=EHFE AICH L= 377|2] S0 Q27| sk Q= AKC}
(3) demon, kingdom 2|2 Et 22p710f BiCt F2ROE L= MA5| @NE S0 ¥
= OIXto| AUCt STRZL D7[2|Q] ol A2|X[Kt 27|27 2
Hanumane] 14 Xl Q0= S TR TR 2T YSIKIT, L= T30]
Ei=0lM #s0l= EEE SSOIC MESE2 55| A~ U= O wra) 2X10|7 QUCtT L2} L= Ygoz SE30} O
SO[0fAH 2ESICt. 1Y AFRS2 HS0|0H SAE 7IMCHE o 2 =0t L= O|X} AFI0|S FL2t1 2 §lS Ot 20 £ict
Ct. 152 J20| XAS0A 52 7EME A2t M2betct, ef & 22 JI2EY ZL 50 Q2|= OrRIL HEICH Li= otz =
S0|E2 0N A ELESIN? 1 0|fE MHsH= MAO0| 522 LYAIQIC} L= 79| 2 tH3HLC| = “5tHIE O E0
St&S WAL L= el 28 t. b= “gtubE O 2
UL, A0{Q7?72tT EQULCt L= “OtL 172t A2|XCt

0|, Rama Al3t 19| Ot SitaZt 20| MUCH IS &
H eSO oL ', ofOp7t Ha| WoiAl LItof|Al A KAl
YZOE SitaS HFZULE. Sita= OFSCHYM ofOts T4t #E |

OH M

I
1L

0] 22 Ei=2| 27|2] Ef7|E J-5t & 20|t

512 4of 3 2 2| Lig4 Fmi2lojct,
ol M= BE 20 = Xiopx|o =0 _ =
Ramagt 19 A= 25 XOM SitaS XU, 1SS T 3 anelg g 2 U SHYYD, 2712 B 28 e
4E X8 4 YT 16l 1S5S HanumanOl2ks 0182 oy

N

[ohM] L= EH=0IM R7HE

ZEZ2i=0, 3N|2] Et7|= BRIt
HB{0|QUC}. Li= AICI2IZ EFT Sap7tM 3712]9) S0 4t

THACt. J= 25t B3t I= Ramag
ofOt7t Sitags 7I2ts do=
AOHICt. 11 #s0l= SitaE 75t7| s &

StAl MHICE OFEIL, Hanuman2 RamaZt Ak41Q| OfLY SitagE

Ch Z727F 271 AMERE W, Us HF FARN. Ue 2kt

OIS T YU 2207t OrEU BRBE W, Lis A=

Fols A2 ERACE 0|4 ME|, Hanuman Ei= MY0IA &
L= O|AS CiAl= Bt HX] LRUALE,
30| EALCF
sl
1 222 20N ¥s0[7t EESIA =J=C, HanumanO|2t

= #80(7t Ramag =27| M=Z0|2h= LHEOICt,

2 Ei=0M= ES0I0AH SAS 7IMLUFH =0| 201 HE=Ct .
Reading Closer
3 SitaE 7t {22 |27t A2 2A0H0|Ct.

4 [8HM] (1) Rama= 12| OHLiRt &0l AQUCY, A Across @ monkey @ relief @ rescue @ jungle
(2) Hanuman2 Rama7t 19| OlL{E ét= S =t Down ® back ® temple @ legend ® forest
3) 2f0h= RamaQ| OIS Xtilo| Y= O =2 o|2{Zict. ® hero © sway

Answers - 17



B 1.temple 2.rescue 3. relief 4.ladder 5. search 4.0 &, o0t7F Ha| HOE Li2tolM kM XpAe d=o=
[aHAd] Sitag 24T,
1. E=AR= Aat Z=9| £=0f Q= =O|Ct 5. Sita= OFSCHAM 20h= L BE5H0T 210 ULt
2. 19Xt 22 AKX O £ 0I5 75 2K & 6. Rama®t 19| ¥Hl= 2= XM SitaE HUX|T IS2 1
ULt HE &2 5 AU/}
R 5 ARI0| E T QteZE AL 7. 1= 2ot 230 0= Ramag 1 A 0{ JiCt
I AE2 HES HASH| Ao ATk 10 M AALY. 8. 2 Hanuman2 20t7} Sitag Lankacl= M22 H|2UCt=
AEH2 o7t EH MEE AHE M 0|, NS LopHLCt.
C sway, scenery, huge, legend, special 9. 1 #30I= SitaZ o171 215H SHA| M.
[3141] 7|2l SO EF= 712 SagIX|at LT 372 10. 0|4 Z0ll, Hanuman2 Ei= HH0|M SS0| =[ULCE,
o SOIM HHE2 222 ESEX| Z2X|2 Ef=Z2| OfSCt
2 342 £4 = U HE2 EFF 1 Aiist =01 o
HES il 25 M| Ao o ddst 37|15 ot
& o, 2ok 2FXIE 62 E2H Hanuman2| HE0| £t
Of 0JOPIBICIT, O3S of Ua0l7t EpR0lN 124 & Aeading 02 36-37%
EetX[0 25t A 2 A0|Tt A
1.348 2. AN¢E 2Lt 3.8
4. Ux| 5 &=t 6. ==
7.%40= 8. 7Y 9. 2Ix|Ct
10. & 11. &%0| 12, H|ES K=t
13. 2X|Ct 14, AfCte 15, Rt 9l Sl
A %’ WORKBOOK 16. 5%
B
Reading 01 34~35% 1. | had to climb up an ancient ladder to get up to the
elephant’s back.
A 2. With fear in my heart, | slowly sat down on the seat on
1. 84 2. A 3.= its back.
4., Helel 5.&= 6. &M 3. I swayed from side to side.
7. 7oL, 7RSI 8. OH=X] 9. B3 2ot 4. | put all my strength into holding the handle on the seat.
10. 45| 11. 40t 12. & c
13. e MERE 15 e 1. KILEO) 92| 7152 EfRUIA 8718 BT L 8443 of
16. A= g2 FXE B0
B 2. Lt= E5t S FED| e 20N S5 |1E S0
1. There is a legend that explains why. 3. 8L} L7 =2 & QiiH 8t JHX|7F QIQICH 24 AT
2. Once upon a time, the god Rama and his wife Sita E}7|CH
lived in the forest. 4,42 < OpRl0f, L= Ly QIMOIM XSO 0|3 2 52 =9
3. Luckily, they met a flying monkey whose name was SILt ol =HE AL
Hanuman. 5. REXIL 272|Q) ol A2IXIKL, ZA27 UKY| YO
4. Hanuman helped Rama save his wife Sita. E|%IC}
c 6. T72l= X 21 JAAXL, Li= 20| 1fL 2| 20|
1. Bi=0M Es0|= S8 SSOIC. AFHS2 53] AH0 U QUCty 7ict
= H=0[0fA EsiTt, 7. 22 71232 42 0| R2|= O "R
2. IHY MES2 HES0I0A S48 7EMLED. 1852 A0 8. Lh= 2t ol 2 gtas WL L= ol = MLt
TRASNA £2 7S 72t d2istot 9. 2T Xh= "StHIF O S0 401772110 SAULCE. L= “OtH "
3. o }S0|S2 =0 21=A SEEIH? 2t A2t

18 - Answers



Thank You, Gravity!

2207 QUIZ

1 2=

o XN QUIZ

1 fastened

| Reading 01

1.¢c 2.a

2 strap

3.

4. body, skeletal, pull, smooth, think

ne
o
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o
ro

Mo >
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111d]
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2“ mo 3o

0= 2

896 >
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kl
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rd
Ho
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339 371

cles)O|Ct,

H5HA

w

SN

N
X
=
=
El

b

=2| 7|0l tist =0

L|Z(smooth mus-

| Reading 02

1.c 2.d 3.3WT@QFE®T
4. [On Earth] gravity, exercise

[In Space] gravity, weak, exercise, treadmill

EE) 2x0Mel 25
ITOIAlE AXI0f &S X
Haatol gxioict. @

[l

St

—

-

mit 2219 2
20| 97| B0 S22/
2} WSO0| HA| oK

o7
:T
X7 ol
L =

> ar

ro |'-|0 30 rulo r 01>|

N

oN

Z

=2

Sot 150
Sa17| 2lsiM 2
ze 7178 ol
é:!

0

Q

7] W2, 2=
2 7|A BR0| 25 AlE B2 F0{0f
B2t 22l=

HA

STt AfOIZ o2

— OE_Q_

- oo

0lo{Xl= 23

4 [a{M] X|F20llA - 20| ULt — 22|= SHH MLRT| sl 2
St HE 0|S3H0F St — 22[2| S2 B2 20| 2ottt
LF0IM : 50| GICt — 23 H[HALS 233 = s
Lt — OS2 il AO|Z HIZEXI0IEE 0|83t 25
= olfOf St

Reading Closer
A Across @ fasten @ space @ muscle @ wheel
Down @ free ® astronaut ® weak @ bone
elbow @ pupil
Answers - 19



B 1. pair 2. combination 3. blood 4. force 5. similar 5. st QIRL[Z20| QUL JONES O2{20| JRE0 ol 24
[aHAd] SHA| &= Qf0t SZIQICY,
1. Rama&t Sita= 1% &S5t HS0(UC 6. 0IE S01, =2 URLZ2 53 27|E HHELt
2. Lk= 82 71EX|= O ERsH Chfst 2o X3E A 7. O RIRLZ2 20| 20| YFet 2S4S &&= 0 =
ALt == &o
3. 1 gHU= M2 B2 05 3 8. 2]2 S8t Y =z =X, o H 2= 2ol
4. %2 TO| Hizte| Z=st 2lof| ofoH ot = AL Ut
5.0 MS2 4T HIZ8H 20N L= 228 & 5 Qlbt 9. G42{20| 12101 CH3H LOFAHALE; MZISHR] LCfate, JRE2
C muscles, bend, gravity, exercise, astronauts 2y ot Al
[GHA] 2t A2 =~ Wi 7He] 28& JHX|1 QUCH OHES0| ©f
CHH, 22l BEXIE L2271 Y2 E = Slbh HXte
SUE RE= SHY WR7| !l6f 285 0[Z8tCt. SHA|
oF 2301ME 133t 20| g1 2852 s2 esol g heading 02 40~41%
Ct. J3E2 2F HIAS2 F0M 2357 #la 714 A
£ A8l 0| A2 150| LS |AISHEE S=Ct 13 2 mer 3 o=
4, 2F9 5. 8O Oict 6. 7|7
7. HZE, 8. HHH 9. £t
10. 25, 20| 8l= 11, fAtet 12. 2%
13. 59 14, 2yl 15, 23 HIAA
16. &= RXlstct
24 %’¢ WORKBOOK B
1. We use muscles and bones to fight gravity.
Reading 01 38~30% 2. Muscles and bones can easily become weak.
3. That is why astronauts have to exercise every day to
A stay healthy.
1.100 2.5 3. XM 4. They have to strap themselves to the machine.
4. 549 5. Lt 250] 0iCt 6. Z7ICt c
7. 28X 8. ==Xt 9. LOFRHCE 1. XF0ME X0 FE A= SAME 217t 22 F3Ho| &
10. &g, g 1. ij1122, 2FE 2| ol CHEtSH] 2=l
12, SH2A STt 13, TSIt 14, 54 52 X|of » M S20| S &M BE SES BTl
15. 58101, ~8hl %= 16. SiTtett 3. HIEE SF0ME F20| 9| 20| 22lo] S2 ST M
B 2 g7t eltt
1. Skeletal muscles don't work when your pupils get bigger. 4, 252 2F0| Q= S0 IE0| 5t 71 £25 YE = SILt
2. They let you laugh, close your eyes, and eat food. o|ct
3. Some of the muscles, called skeletal muscles, are 5. 2E5}7| QsHM STHFAISS 2UMAIT} E435t XIX749}
fastened to bones. Zte 7|1712 0|85t}
4. Others help the blood move through your body. 6. 1SS HYMAOM S2ICt 2F0= =240| Q17| W20, 2
Cc =2 3300 Hohe 5= ALt
1. A2 60071 Ol¢el 215 #1 At JAEE o2 = 7. A0|2 0|2 10|ElE} 2d|= RS A= HFVL = XX
R0l UL 712t H|=8t 7| A 0|t
2. S0IEA L, E=21t S022F 100717 QUL 8. 152 240} U= HLEE |XIoH7| {ISHM LS E20f 0
3. IAS2 28 Yoz &Fdl=t 282 HX 2032 & & OHMIME A5t
A= xok7| WiZ0lct 9. Dof RLFEH[HAI F0M SES| 2SoHX| Y=0OtH, 152
4. EAT2 ZH0| BEXE Z5|10 B WLt US He|n FS o CHA| X7 2 S0t2 & e A=6iXle= ol /0] X 22
S F71= AS HZOF 7HHA BTt Ct



Home Alone

2R0EE QUIZ 88%

1 At 2 convenience food

==

ojgl xRt QUIZ 89%

1 predict 2 technology, nutrients

| Reading 01
1.b 2. (A) lower (B) later
3.b 4. ten, developed, 50, longer, later

2y EXt A

121 7t717t S7tots
ALt F=9| ZAF E[AR! Euromonitordi] MEH, X MA 1
T FE AR 108 T 3HHUE SIISHCE, 1 AL T2
ESHE 7 B HY & 7712 et st I HIE2 o
AN X O O, ZEAMAM= Oi2] 2172f 79| M| &

ZMoICt, HE o B2 AES0| =4t &

|'0II

X A1 Uk,

MHHOE 191 /70| HIB2 MIBUN BN O 501 02
Sof, DIR0AE M 717 8 7477k 121 7 R0ICk, 1 HISS i
UEATOINE BU O SO oS SO, HO/kE BE /7S
5 ©X THMER0] 191 71R0ICk OHZ27loAl 1 HIZ0| ¥
M

1n||

—

O 22 3HHEO 71ZCt.

2 (A) HE=E=0M= 121 71722 HIE0] MEIRELE HO.
=

(B) AHZE2 BHE O & ZESI.

3 RHALTE UABHS R 191 7470] 7 M| AIZEIX| AT
4 [s441] 191 7k 7t
- 79| & 747 B0f &t It
- THEAIQ} MEIRZOjA Of &Lt
- m2|ol= 72| 50%

- OI=0= 712 30%

0lF 1 - ARYSO| o 22 Alct,
- NS0 S ZESIL,

- O 242 ARIS0] 0[BT,

| Reading 02

1. b 2.d 3.OF@QTOT

4. popular, time, nutrient, salt

s JEEEN

CIS O B2 ARSO| 25t 23 T2, £ 2218 4 s
SOl THEt BRA0| 7KDL 51T ULk 0J3 SASS FAA
Z0|2tT 22T IHS2 K2 87|0f BYEO| LI2CE IUS
S By YK 4T ALS THSEICH B 2 SOt HARIXI0) 1
HSS 0f2}, 2B 0f2E2 WU MAIZ & HOICH B4
E2 BX A7ILE 2218 AIZIO| 79| Sl= MRS AtOI0A 217
2 83 Ut}

Ol S4S HMBIA RRIZ 4 ULt

J2iL SMMBS HZ0l 2 57 H20) SHESO| Uk ¥
S ZMNE2 HOIN UEE SNEL O Y2 AS RS
T3 IS AZ0| BX| USKIE D2= B3 2US EF O
20| BR5HT UCH J2OE A LG BA| 2482 T2 UH o
OfOF SiC}, 3t ZAAZS ATAG| & ¥ 014 2B O HiLt

4 [314] ZMMEL 959 Q712 BT ULt 191 77l 22
B AIZIO| 79| gl AIRISS IRES Al %S 09 Sofet
Ch M22 7122 YUAS UX| 2T SHAZS MM5HE b
018 4 Urt J2iLt IHESL Yol o FBXIE B2 o
e A3W a8t BUSS 53 JHND AL 1202 gAe
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Reading Closer

A Across @ alone @ research ® developed @ salt
® trend

Down ® rate @ nutrient ® predict @ expert
half

B 1. nutrient 2. divorce 3. common 4. contain
5. population
[5tAd]
1. HIEFRI

(@)
rir

]
N
o
10
iz}
+
08
02
I
=}
il

2. 0|22 et 2, O 19| Ol52 EXMM 7124 QUL

4, 0ZI0|IS2 HF H2 XUS SRt A= SAS LIGHOF &

5. AFHS0] AlLshM o A2 Ot0|1Z 7o k2t 1 Liate] Q1
= &0{= A0|Ct.

C trend, increased, predict, choose, convenience

[aHA] 1Q1 7t7+= B7t6k= FMOIC &2 XA MEH,

MAL 11 747 == THX| 10 Qtofl 33HME S7I3HLt, ™

27152 1 FM7F ALE A0 st Ao =Z AL=|of

IS 7IE WOt ol Bt oS S0i, O E2 AHEO|
EXM A= AS HEiSHHM SMAZ0| e 277t S7tst
I QU 2% A HF B0l He A2, AANS0I 2 d
4ot7| Mz0| 2HE Yoz = AL
Al G WORKBOOK

Reading 01 42~43%

A

1. 9 2. H1M KREIN;

4. 19| 5 THxHo=z 6. M2t

7. Ol &SHCE 8. YUME, MZIO] 9 HIE

10. WEE, HIE 11. 217 12, 4hgf

13. MlTH, 715 14. 0|2

15. 1€ & 16. ~0f M=2H

B

1. More and more people are living alone.
2. The rate is much higher in big cities.
3. The rate is far lower in developing nations.

4. Experts predict the trend will continue.

C
1. 1¢ 74517} 715k FMI0|LH,

22 - Answers

2. G2 XAt ARl Euromonitor®l ME2H H MAH 121 7t7
£ 72 103 THofl 33MAME S7H3HLCE

ZAOf| M2H Eot E 7t F A2l ot 7H7H 12 et

w
LJ

L]

o

i)

DYANME o2 Q2| 71| ZHt0o| =Xt &1 ULt
CHMECZ 121 JhFe| HIE2 ME=0AM M O =0t

.OIE S0, OI=0ME M 7175 o 7t527F 121 71H20I L

HE =9, gOl0M= 2E 72 & A 7THUETO] 12
7t510ICt,

8. MEHE2 M Qi #1, EXL Als Q10| HXt S7totL QUL

9. Eot MESE2 O =/ 2&cts 0| AL 0|22 A H &2
II:

N o o &

q

[

ct.
Reading 02 44~45%
A
1,89 93 2. #A 3. ~ ALojof|
4. UisXQl 5. SiQl= 6. et
7. BYA 8.7l 9. 17|
10. AlMst 11. 23|, 5 Y 12. Z3l5trt
13. e mo 14 55t =7 15. FXQIX|
16. ~ EHE0|

1.They are always easy to buy and ready to use.

2. Put them in your microwave oven for a few minutes,
and you will have a tasty meal.

3. They usually contain a lot of salt and chemicals.

4. They can also keep foods fresh in special packages.

C

1. 02 O Y2 ARS0| B MEE0| T2}, ¢ 22/F 4+ U
= 20 T3 LR AM0| E7t5tT ka1 ULk

2.0/2 SAISS ‘SMAIZ 0t 23CH IRSS K 87|
ZRE0f LIRrt

3. SAAZS X} A7iLE QI3 A|IZH| A g AES AfO]
0lA Q17|12 T3 UCt

4. M2 7|E HE, ,



The Joy of Reading

2207 QUIZ 96%
1 book report 2 HH

oigl xnniE QUIZ 97%
1 recommend 2 yachts

| Reading 01

2.d

4. interested, characters, Summarize, opinion

1.a 3. characters

Y

2=t FHOfl CiohM Mokt M| #u, 21 0[0F7|E Q9fst= H
S M2t g2 FUSS, 15 =8F, 1
MOF g HQTF UL, ORX|HZ, T 20j 2het F2| 2|40

[eit)

=
o HElS M2t Fu0l 7HE Eotets BE0IU A E AE 2

4 9t
BE 22 372 0| 523 Y20 PR 22 Y|tk
NS CIZ MBSO 1 M2 M YN S54S
92 5, ARISS 1 M2 9T HSXIS ZHY £ 0{0} Bt
st

5218 M Y| s 5| HHAO|

2 SSUS L0 Mol JIHS Mets AF2 YL,

ro

A3t SO0l LIR”E AFEHES charactersO|Ct.

3T 11 0|0p7|E Qofst2t. SEU=at
Z404| CHOH A=
ATHA|: I 0| thet 42| 2= Met,

I-"I-I j-ElJ— °H7:1

Hn

| Reading 02

1.b 3.MT@FQF

4. Author, novel, 80, one day, International

2.a

Jsl 80 ZHe| MIA| Y

80 7rel MA Y=F.= Jules VerneO|
A2 ©X| 80Y THoll MIA 2LFE AHZHO|| CHSH O[OF7]0] Y,
19| 0|2 Phileas Fogg%iLt.
TS AFZO0| 80 QHofl MIA| UFE & 5 UK

=
Off CHl =Z3HC, 2= AHMO0] 2245 o' 4 UTH= Z0f 22 of

D AMOICH O

sy
= HE| AU BAAC o

LEH0E M EX ¥=

Ct. Izt 1 QICt. &= 7|XH B7|M, QE,
A, X0 Z7|2{7EK| EfOFR HCE T12{Lt Fogg M= 17t Of
SUE AEL H 2 RO "ol ZARIC O= AR BE =2
UALHLT H2[iet, T2{Lt SHR7HE Ot UULE

Fogg M7t SIRE &2 A2 0| Mo L7} 71 E0fsh= &
ZOICt, SZ2Z OfYotHM A gM HAMS A7 W=

& SRS HUL. 0|AH2

| Z40] THX| 23 40| OfL2t= A

0
= LIEt=E S20I0. 242 E3t aisto 24E & A0|L.

2 GA0l= HIA7|7F AACILT 2B =Z Fogg M= HIRY|E O]

w
S
M
o
«Q

Mgt 9 MTES ARl 80% M M AFE
N

& 4 QUEXOf Bl =
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Reading Closer

A Across @ author @ bet @ adventure @ decide
® sleigh
Down ® expect @ yacht ® character @ prepare

novel

B 1. opinion 2. solution 3. argue 4. remember
5. cross
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3. 7VIk2 T2t SX[2E At EX0] 2ol S5 =S Bict
4. Ll ZOIHXI= HYS0| UMM SUSS E 7|oHK| =5t
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C novel, adventure, character, summarize,

recommend
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Reading 01 46~47%

A

1. &7t 2. HA, Ext 3. ZH|5tCt

4,7+ E0tet= 5. M2Ct 6. oHZ™

7. Aottt 8. M 9. 94

10. 38¢ 11. 7|1Y435ICt 12, FHsICt

13. He2f 14, QoF5ICt 15. ~t &2

16. 2o} &LCt

B

1. It also gives an opinion about the book.

2. If you are interested in the book, you can understand it
much more easily.

3. Third, write a paragraph summarizing the story.

4. You can write about your favorite part or what you

learned.
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Reading 02 48~49%
A

1. 448 2, =45ttt 3. #R/E

4. L{71E ottt 5.8l 6. =AtoiCt

7. 7|CHotTE 8. A0j 9. QE

10. LtSOfl, =0 11, AT 12, SEX|2

13. ~2X| OFAX| 14, 1fst 15. B

16. ~= 7|Hte = sirt

B

1. It is about a man who went around the world in only 80
days.

. He was a rich man who lived in London.

. He arrived home a few minutes later than he expected.

. It is based on science, too.

.T80Y Zto| MIA| €& = Jules VerneO| £ 23 AHMo0|Ct,

. 12| 0|2 Phileas Fogg®iLt. Ok &, J= ZITSa AHY
0] 80¢Y 2tofl M#A LFE & == U=X|0]| CHEH =ZJULCt.

3. d= XRA0| RS ol o= ULk Aof 20 IHRES| =2 4

ALt

0 2t0i| MIAIE OEct= A2 2EE0l= 2H7E =IX| =Lt

N 20 M N

6. Fogg M= 7I7'<h 3714, QE, &K, HXI0f Z77|2|7HK| ELOF

7. s XA BE ES AUUCHD MZIRHCH J2{Lt 5HR7HE &
o

8. Fogg M7t StRE &2 A2 0 MM L7} 7t E0tots &2

ASHHM =M I HAYMS HAY| W2 2=

10. 0|2 O 0| HX| =& 40| OfL|2t= RS LIEE £



Interesting Math

HooplEy] QUIZ 104%
1 M2 2 IjEHE

ogl xRl QUIZ 105%
1 multiply 2 notice

Reading 01

1.c 2. (A) to calculate (B) add

3. [21%] 16, [RE%] 13, 1112, 3892
4. line, left, right, Double, right
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Reading Closer

A Across @ property @ calculator @ notice
@ method ® equal
Down ® memorize @ table ® multiply @ pattern
digit

B 1.sum 2.divide 3. add 4. suppose 5. calculate
[5tAd]
1. 22+ 421 62| &A= 120]Ct,
2. 340 102 52 LT, 25 &S A0|Ct
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C multiply, memorize, method, digit, notice
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Reading 01 50~51%

A

1. 2 2. Jpdottt 3. & HH<|

4. ottt 5. Attstct 6. 2ol

7. 2952 1=t 8. £3l 9. At

10. ~StA| SIC 1. QS stk 12. ~ 810]

13. 5tLte 14. AL 15. 5, 7|Et

16. &4 E, #7HE

B

1.

2.
3.
4

C
1.

26

The multiplication table allows us to calculate numbers
easily.

Draw a line down a piece of paper.

The numbers 2, 4, and 8 add up to 14.

. Add these numbers, and you will get 392.
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Reading 02 52~53%

A

1. THE, @A 2.~ 2T} 3. Liert

4. A} 5. &7 6. LOFXHCH

7. 7|5ttt 8. &2 #4| 9.¢2

10. 84, &4 1. A 12. ~2 2 F&t

13. 2|0|stet 14. &4 15. €=, H0|of

16. AlLtsict

B

1. If you look at it carefully, you can find some interesting
patterns.

2. Divide them into groups of five.

3. You can find that AXB is always the same as B XA,

4. Can you figure out what is going on here?
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Heal the World

23087 QUIZ 112%
1 #3212 2 102

ol xprekt QUIZ 113%
1 donate 2 within
| Reading 01

1.d 2.C 3.b

4. $5, statistics, Rokia, $2.83, one person
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4. newborn, 2007, cap, $10, soaps
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Reading Closer

A Across @ mass @ within ® university @ soap

® conduct
Down ® newborn @ statistics ® survey @ knit
donate

B 1. critical 2. collect 3. infection 4. complete
5. average
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Reading 01 54~55%
A
1. 3t of 2. CH, TS 3. S35t}
4. 87 5. GITLRt 6. i}
7. 53 8. £ 9. A5t
10. 21 11, 4 0t 12. 4L}, ZHAIBICH
13. 7|740] BH= OFS 14, HXHIZ 15. ~It W2H5}0]
16. g0
B

1. The survey was about their use of different electronic
products.

2. After completing the survey, each student was given
$5 and a letter.

3. They were asked to read the letter carefully before
going home.

4. They could donate money if they wanted.

1. G0l E2IAL =LA = HSACE “LH7t 2tef Cha=2f Al SS =0
B, L= 20 BSotA| 42 AOITk L7t o AlRE =0, U

2. J4= OE MESS S04 ol AHEHQ OS2 2 A

| 4zt Algdell 20 AU, J2iM 2007

4, 25 12139| gt 0|5 CHef stlS2 5EQ| Itz B2 &
=

2of FU=d|, Zatelel 3002 Bl 7F

. sH %
2l Ot0| =1t OE|21]0t2] 11002t H2| HiIE OF0|S0] 2tst
LHEOIALE.
6. CtZ stlt= Rokiaghs, OFE2|7t H2|Q| ot Jtetsty mFE

ALf0f| 2H3H O[0F7|S 2 HOf =10 QAL
7.1 ZitE 1R =R
8. 84 +XIE U2 MHAS2 BT

1 =
9. 2HH0], RokiaE €/ & AMEHS2 G 2. 83HEE 7|R;L.

Reading 02 56~57%
A

11. MZ E{Ofit 2. ~ Qtoil, ~ oJLjoll 3. «IZE

4, B, Y 5. ~0i 0| 2L} 6. MS st

7. 44, 24 8. 7|% 9. HI%F

10. EECH M 11, Rort 12, 4350l

13, QL 28  14. 20ROt 15. 2 742

16. & 7|

B

1. Putting a little cap on a baby’s head can save its life.
2. The campaign asked people to knit a cap for newborn
African babies.

w

. If you are not good at knitting, you can save babies by
sending $10.
. The soap will help keep the baby free of infections.
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Great Mayans
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Reading 01 " =
1.b 2.c :
, | Reading 02
3. their gods needed blood for food
4. flat, gods, wonderful, passage, pharaoh 1.d 2.d 3.a

4. mathematics, zero, symbols, solar
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Reading Closer

A Across @ symbol @ pyramid ® concept @ slightly
- ® narrow
Down ® astronomy @ purpose ® central
®© period © shell

B 1.narrow 2. consist 3. vertically 4. measure

5. civilization
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Reading 01 58~59%
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1. The Mexican pyramids are different from the Egyptian
ones in shape and structure.

2. A narrow passage connects the room to the top of the
pyramid.

3. A Mexican pyramid has a flat top and steps which lead
to the top.

4. On the other hand, a Mexican pyramid was built to

worship gods.
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1. 43 2. A9 3. XEE wHE
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1.

Maya civilization was one of the earliest civilizations to

use zero.

2. The numbers were written vertically.

3. The Mayans measured the length of the solar year

very accurately.

. They were aware that a year is a little longer than 365

days.
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The Armadillo’s Song
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4. (sample) The wizard gave the armadillo a beautiful
voice. However, the armadillo had to give his most | Azl i
precious thing to the wizard in return. 1.d 2.b 3.a
(sample) The wizard said he couldn’'t make the 4. frogs, wizard, shell, musician, sing
armadillo sing. The armadillo was very sad.
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Reading Closer

Across @ cricket @ rainfall ® pond @ frog

® musician
Down ® wizard @ creep ® reluctant @ insist
drag

1. ridiculous 2. stare 3. creature 4. amazing
5. price
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pond, merrily, wizard, instrument, voice
[aH4] L= SR 20l Ab= OI20HE 20| 245t 0|0F7|E ¢
QUCt. 1 OfE0MEZ= 19| S5 TFEXNE S dE

RS 271 YoM S/ 7t 2Itiet OFHALS UERE I

-
rir
M
rlo
_?_
E'_
uo

127t O 572l 2i

43 /4 WORKBOOK

Reading 01 62~64%
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. The frogs were laughing at this funny animal.

. A family of crickets moved into a new house near the

armadillo.

. The armadillo visited the greatest wizard in the area.

. The wizard was reluctant to take the life of such a fine

armadillo.
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